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Please check that this question paper contains 16 questions.
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@Us: & . FrafEarer-sTaaeay (Aufadr - sTEaie) 10 37FT:
SECTION A : Unseen Reading Comprehension

@ ve: @ . TATCHEE (TS - ) 15 IET:
SECTION B : Writing Skills

@ us: . ITIGHoATERTTH (3TIGHd ST 25 A=
_ SECTION C : Applied Grammar ’
wuE: ¥ . qfsq-srasigay (dfad-iaend) 30 3TF:

SECTION D : Reading Comprehension

ﬁi?ﬂ :
Instructions :
(i) G T TR G@OeT: i |
27 yv7-v7 H AR @uE &/
The question paper has Sfour sections.
(ii) TRF @S HTEF IR G T FHI G |
VI GUE % I T & T8 W FH @ ferad &1 |
The answers to each section must be written at one place.
(iti) ST SETTATIRE STeada 14T |
YT % SR J~HET 3T § forad] & |
Write the question number according to the question paper.
. () G e, IO HeFAT A |
it g7t % T dewa 4 efEe |

Answer all the questions in Sanskrit.
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@UE: ‘% (SECTION A)
FrafSarer— sraratemy (srafaato-smEatem)
Unseen Reading Comprehension 10 3TgT:
Frfertaa s1geae =1 vemt faw o yol % 3ae vpa | fafian |

Read the following prose-passage and write the answer of the given
questions in Sanskrit.

ARGy -] - ¥R - g0 - iR -aa=’ gﬁr.usaﬁaa: waf=i| g
‘o T FER| TG i WO S T At @ e =

- v e 5 W SE W - S Sy | gEe gy

vafl wd v i g shavgiv gate g amd
IFera TeReafy: Fai S, simedfe | gds v amaree wafy) T, S
FAR:, FET: T WL Al JRAR = G G T e
I THOTT TeT 9 Yawiata | 9 epfd wmm: |

() UHIH 3T | (FAe TSGR | Vyx4=2
T v7e2 W IR T (Fae IR 99)
Answer in one word. (only four q_uestiohs)
(i) FgUs: = FEA?
(i) oTaen S saa: vafa?
(i)  IE-d Sred e vafa?
C(iv) 983 999 %: wafd?
bo(v)  STHIE I e qaie S e

() e S | (e TR 1x2=2

yofare § I AR (e a1 we)

%
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Answer in a complete sentence. (only two questions)
(i)  9E= e Ieda! ded:?

(i) aE= gaTEHid: gl grd?

(iii) =g Fg: Fa Hafd?

(@) FATHET 3| (Fae JeTEgEAn) | x4=4
fraan e S| (FEe =1 9w )
Answer according to instructions. (only four questions)
() ‘T’ sl forvew e B
(%) (@) = () =y,
(i) wTgese ‘T Sere wHmTHE TE TR T
() fafagad: (@) FEi: (1) g
(iii) sty 3fd wew foemE TR S ?
(®) =/, (@) = () Ty,
(iv) ‘o T AT vatd | o7 o 3 e ?
(%) wad (@) v QREISIEIL
(v) ‘ORI wg: o T = gAIE FER TgEH !
(%) sedaE (@) TFA (1) S

(7) o STedet i ST Y sehad foed | 2
70 SigeE % forg e v w4 fafan |
Write the appropriate title for this passage in Sanskrit.
wue: ‘@ (SECTION B)
TEATEReReRTA (VAT — T )
Writing Skills 15 aTgh:
5. | e w: wfen a9 Tt wf seiferRad oo TS - e e e
o ferad| Vax10=5
e T T 21 3 1 T B R e Frefiad o @ wee d g
TTa sTeat <1 Harar @ ol o 38 g T

EE
T4
20|
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Complete the following letter, written by Sanjay to his father, with the
help of words given in the box and rewrite the same.

faaEm=-sEEE:,
HEHRTETETTL:
T i)
3 (i) T dARq| 3 fas s (i)
afyafy ag fee 9 of wwmwam Fafa sfeen sl s
(iv) ST | e, ST ST -Hrearel fEemeauerd:
(v) AN | 37d: 37 (vi) TTet
qAH ag WA A (vii) " S, TS| W
iy — wfgsafa | wrg=ReEn: 79 (ix) IEECEipifl
Had: (x)
SESEH

WTHT

Trgurae, JcargadTy erfawes:, FE, IO,
gy, Rrguaean:, ue, onirsHi: SEHTEaRE: |

1.

3. W yed FoE Ul WSO TRANSRH WETSH ud dEEH HERd
fere | 2x5=10

ofo)

| B
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F1ar faw o st o i T # i T wredt Y weTn & ufE Gepd A
T i |

Describe the following picture in five Sanskrit sentences with the help of”
the words given in the box below, '

SEATI:, HETURT, FeT:, ﬁwﬁg&qﬁa@a trmaql

arerat (OR)

Hes[aTETRTeaHl grer fAmferiad ﬁmaﬁ@a Uouli: TERdETE:
TR ARG foreEd|

TeaT ¥ U ¢ yreat I e 9 Fferfa favr w uie wa ami °
U sigese foflan|

Write a paragraph in five Sanskrit sentences on the following topic with
_the help of the words given in the box.

i aeagia:
HSSTET
TS, HeAd, Heal:, |G, g5, Wald, AR, @wd:, g,
| @z, sufawf=, yvma:, wefR, awat<, e, aes:, yafd, qage:, @)

52/1 6
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wueg: ‘1 (SECTION C)

AT FACATRTUT (SIS SATHTT)
Applied Grf'ammar 25 AZT:
snifofaqarRy Yafgauey @fd afesse @1 Fer foraal (S

WH) - 1 x4=4
frafefa el # Yaifeg v # e swEn wta-fese weh fafaw
(et =1 ) -

Write the underlined words of the following sentences after joining or
disjoining Sandhis. (only four questions)

(i) i et g+ |

(i) et femma wgeefd

(iii) Fe-+BT T

(iv) weT+3wfy: arewifen: T T
(v) ey Sfiee Herm: qieHia: |

sediferfaaarRy Yarfauer aue e a1 el e e
(WWM 1x4=4
fraferfag al § TEifed gal o wumg st faue fo g faeped | @

e fafan| (Seet =R 9w )

Choose and write the correct compounded or expounded forms of the
underlined words in the following sentences. (only four questions)

(i) orEY a5 Fed|
() TArETET, (@) et (1) ErvETeTE

(i) FrfyreE g | |
(@) foft w e w (@) Rmaawm s () forfam: a@=t
(iii)+ FramEia: 72 7 T |
‘(mi)ﬁ%mé’m: | (@) famm: & () famrn &:
(iv) = ffE= s
(%) = v (@) B e () Freda s
[EHE

&
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(v) i EereeTer S|
(%) @es: So, (W) W S, (TT) TeEE S

seifefaaarRy tEfEauen yefoses sasa fawsy ar sfaaq s
e forea foraa | (St SrorerEam) |
frferfiaa s § T@ifea vei & Sefaucadl i STeHt AT Yo FLeh 3rad
3ot fqeredt o @ e fafigu) (e = uw)
Write the underlined words of the following sentences after joining or
disjoining suffixes to roots or words, selecting the correct answer from
the options given below. (only four questions)
(i) oI UMEH ST -

(F) TeEgL (@) TRy (1) TREg
(i) 38 IgaH T+ITg ST

() Tl (@) == (m) ™q
(ili)  FwS: TEgie giddean|

() T+, (@) g () TR
(iv) ‘Tadadr ST g +3% st @1t

(%) e (@) wifas: (1) T
(v)  aferen foremerd Tesfd

(%) aifersh:+&q (@) arasw+e () ST +8Ig,

SeNferfiad Gae HesuT Yat: e areaaiEd Feal 94: foral
Siefifrfigd dare &1 wrespn H i T wedl i el § dared uied i §Q
T ! 3 fafau)

Re-write the following dialogue changing the voice with the help of

- words given in the box.

fremep: - T o Ty ST
BE: - W, (i)
e - T war TRy vsfa?

BE: - AW, (i) —  HEWRd 934d|

RiRGH!

1 x4=4

1x3=3

&



e, - T aa wfiEt smges uafd
@ - AW, @ i)
RESAL
g, FEFTH, Tl

FHUET (OR)
reerfiae e & e i)
Change the voice in the following sentences.
(%) o feremer Tesfdl
(@) o fanft et
(1) TR s g

8.  sieferfad- Rt fereemi SepdsaaaeRyes: T |
EEERIEEGEREY) Vyx4=2
sefifga et o fiep ol 6 Ot Gk iceiEe WeEl @ i
(hael =TT
Rewrite the daily routine using Sanskrit words in place of figures.
(only four questions)

(i) 38 EET 4.30 A& _ shrerf|

(i) 5.003TEH FrETFOIT TR TS|

(i) 7.15 9@ S U]

“(iv) 9.45 FEA e LT T

i(v) 10.003mEd IR FUH| ,

9. Mmaaﬁ&ammﬁwm 3frd: sreETe: |

(CERREEEGERLY | x4=4
[ElME]
o

52/1 | 9 | [P.T.O.




frerferfad ame 3 fo coml i ofd oo # faw e wa ¥ g
FifS) (Faer =an )

Fill in the blanks in the following sentences with appropriate
indeclinable words given in the box. (only four questions)

(®) —— [um =

(@) g wm Tesfd |

S0 I — R D R

() T oTEieR: U SIvEq

(€) — e U T @ dan: |
TS

a1, Grgfd, 7=, w3, g

10. aﬁ%ﬁm&gmmaﬁlmﬁmy ol

| (el geTergEay) 1x4=4
Frtferfia =i 3 Yaifera we smwre 1 sigre ve ) avifa & g ffa)
(Sheret =R 99

Correct the underlined incorrect words in the following sentences. (only

four questions)
(%) 3t Eechad wafd |
(@) oy ffe: sfen
() Trerer: SEE U6 Al
(%) =M qeiteqd geafd|
(%) o at: v rfer
' - w@vus: ‘g’ (SECTION D)
afgq—sraaemy (ufea-araaieT)
Reading Comprehension 30 T3
11, yeitferfiad e afdcam Seagey St s o) 6
[E14(E]
Ep

52/1 | 10




Erefefiaa meriw #1 TRt fw U el % IR wEpa | ffeu)
Read the following prose passage and answer the given questions in
Sanskrit.

9 g A TdEge WA hiea: Hifvad, SIeh, Y& SEEdn - o
STETRT: | e TavE fare An freu? af w e d gaq afd | e
s FR FeveT A ¢ e A TS SEUS: erh: I - “arfa
| 72 Al we wadt gud ufedsd SR FUIN TR SEEI? ST 59
S pre e
(31) UHIRH IeRd| (A THEIH) [x2=2
s yree 1 I AT | (Fad & Ie)
Answer in one word. (only two questions)
(=) &Y M V&g HAeam?
(@) areret: higwl forew i shief< @i
(1) =2 Ffeerg 7 vaq afe @: foh sy forl ot srgve? ,_
(&) qutaTerRi 3utd | (e TeHH) 2><1=2‘;
ot A # I | (et U T ) |
Answer in a complete sentence. (only one question)
(%) < gt AT FhrEd: ATeTeh STV ?
(@) 3eue: arersh: Forr 3raed? |
(T) wemfasre: 3fdy I fumn fored | (e gw=gead) Vixd=2
f2u T forepeu § & 3fa I e fafau) (FFae =R 9 )

Choose and write the appropriate answer from the given
options. (only four questions)

() “‘zam’ sl frames wque fem?

(=) <t (@) wa= OEIGES
(i) ‘e’ sered %: T e g ¢

() AR, (@) grom (1) et
(i) Ay TS F: TYHH

(o) = (@) FTAF: (1) TR

52/1 11 [P.T.O.
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(iv) *eve: arer:’ o o ferdreoer arfed?

() Ie: (@) sete: (x1) ferepems:
(v) @ s e frmeE Rl
(&) 3am (@) s1ggam, () ey
ehffiad T afSe FeRuwEE Sty sk foeal 6

Srerfeifad Ter 1 TeeR U T Wi o 3w G | fofau)
Read the following poetry passage and answer the given questions in
Sanskrit.

F1eTg afd geiE: FEEc faia ;|
wfersiee i gfgmmamesoreatdi |
(31) TR IR | (heE SAEIH) O 1x2=2
e vee § I AT (Fae & ) -
Answer in one word. (only two questions)
(%) e & wafa?
() He: T JorEfa ¢
(1) wwTE f wafd? |
(a1) qofaTRE S| (FFad TEHE) 2x1=2
ofare # 3w ARG (e TF W)
Answer in a .complete sentence. (only one question)
(%) gfeamm T W ?
(@) wwTE: el STra
(@) wedfEede: sfey 3w e forad) (rare FTEgEa) Vyxd=2
forg T Foremedt 8 & Sfra Fet g fafan) (e = W)

Choose and write the appropriate answer from the given options.

(only four questipns)
* () ‘worafa’ sfifFmrees Fwue 7
(%) 4 (@) wafa ()
(i) ‘Frefa: e fomue o S
(%) ‘wfa’ 3fa (@) ferym: (1) T
| EHE
Epc

12
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(iti) wfd’ vreawm watag & sy ?

(%) wHTE: (@) gfe 3 () wfer:
(iv) ‘wre: sfoemduee R famg?
' (&) g, (@) goreafa () vafa
(v) ‘erfaas:’ sead o wumse o8 w7
() e (@) gere; (1) wgfaye:
- el ez afdeE yeaweTE, S g ) 6

el fordl Aream i ves {3 T yet o e gepa # )

Read the following Drama passage and answer the given questions in

Sanskrit.

s (gl i) s | ifvm s weam s gerg wam)

’gﬁlﬁ'{:— = geq! ool wa !:@Tz{:ﬁ'ﬂ'ﬂm: HAq| (ﬁ"lﬂ?ﬁ"ﬁﬂ%,

A1 Sref wE wferwfa) |

sfigpwor: -ﬁ!mlwqﬁmlmz i T v
2o g, srfremafal

FfufET- e E: g TR T g e

ftepwor: - wlqaﬁrﬁfmﬁﬁmwﬁmﬁgﬁmmmﬁﬁ |
T 3 ferrd ae ured | af o ygsad, et gesh @ v !

(37) TR A1 (sherel g | 1x2=2

T vTeq I AR (St 1 we) '

Answer in one word. (only two questions)

() Toq: gy & am e Do ared e

(@) ‘el 7 g waar 3 s % ufd weafa?

(1) et e WY Tfrsafa?

(=) qofaTeRe 3| (el geTHEy) I%]=2
| qyfa‘mﬁm?ﬁﬁw CEEReRT) '
Answer in a complete sentence. (only one question)
(F) 9 T3, s gfufse: srfd =77
(@) afe safir: 1% wgsad afd o @ ?
[E[E
i
13 [P.T.O.




(@) Tt weafamedsa: 3fu st fore forad| (perel TEAEIqEA)  Vax4=2
frm o feen B & 3fra 3ot g forflaw) (et =m we)

Choose and write the appropriate answer from the given options.

(only four questions)
() ety st e wduE 6 ?
() “fime: (@) s (1)
(i) ‘v f veen o fRe?
() F: (@) =vem, (1) eI,

(iif) ‘.’ 3 e e SR |
(%) Hpwom (@) R () sfi@am
(iv) ‘o’ 3o womneie ve foh wgee?

(%) we (@) e () e,
(v) “piefede: 3 e foe sl
(%) e (@) I (1) #fiepeore
14, YafEauert sge et | (e TeEge) - 1x4=4

Yaifia Tel % ER W e fwior i) (FHae =1 TE)

Frame the questions on the basis of the underlined words.
(only four questions)

() o S ufrd 7 St

i) e e e = wdr el

(i) TSER: FHE AR e A vatdl
(iv) T g et et Tt

(v) e Eryg Here

15. s g feraeE fee, srferfad veireRat: S O . 2+2=4
ot 7 3w e g P it vl o s gl el

Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box.

52/1 | 14




16.

() Forgr v aesferd T e |

AT Fed 3 g A A& A

T -

e, (i) EE TR A s N (1) D—
1 ged A (Tg) (iii) ol EEI N Ra—

(@) ¥ TeSeATeHd: S WA gar =l

7 patafed | e e )

e -
7: (i) 2 W@t (i) 9 3e8H,
T (iii) e (iv)— %1 7 FA1q|

HSST
‘FI%, ﬁ, Hﬁﬁm:, E\%, ﬁ@ﬁ, 31%?[1{, HATHA:, ey

Vax4=2
Vix4=2

seferRaeT s wafad v et famn foa| (S seegEa) 1x4=4

Frfefiaa ot 3 gyfia wrea - § ¥ g fafaw) (et =) we)

Choose and write the correct gist of the following sentences from the
given options. (only four questions)

(i)  ad =ghed TREdaHH: |

() @@ (@) foreey, () =,
(ii) o o ) |
(%) =81 (@) et (1) mifeh:
(iii) oo e 3em: fohaam) |
(%) 38w, (@) e, (1) wrETe,
(iv) ~ hIehE T § TS HIEE |
b(*) wg: (@) ﬂﬂ?‘i () e,
(v) aed | 9 ST s S =oe i)
() are, (@) @, () =hifeg,

15
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